
1)
Find the next three numbers in 
the sequence
100,96,480,476,2380,2376,11880__,__,__

Answer: ____________

2) An amount was increased by 5% to 
$462.00. Find the original amount.

Answer: ____________

3) 16/12 + 30/5

Answer: ____________

4) 16/12 + 30/5

Answer: ____________

5) Find the value of 'j' by completing the 
square of the following equation: 2 + 
12j + 20

Answer: ____________

6) (-4098) + (-8447)

Answer: ____________

7)

A = 71  B
Find the Angle at side B.

Answer: ____________

8) Share 64 in the ratio 4:28

Answer: ____________

9)
41  Find Volume of Cone 

40

Answer: ____________

10) Solve 20f2 - 18f - 8 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

11) (-121) ÷ 11

Answer: ____________

12) Decrease 98 by 2/49

Answer: ____________

13) Convert the following mixed number 
365/2 into an improper fraction.

Answer: ____________

14) 9933 - 6528

Answer: ____________

15) 28/2 x 7/17

Answer: ____________
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16) 'What is the probability of rolling a 
number less than 5.when rolling a 
dice

Answer: ____________

17)

A B = 21
Find the Angle at side A.

Answer: ____________

18) (-949) ÷ 73

Answer: ____________

19) Find area of 
rectangle having 
sides a = 4560 in 
and b = 2867 in

Answer: ____________

20) Find area of 
rectangle having 
sides a = 4560 in 
and b = 2867 in

Answer: ____________

21) Find the mode of the following set of data:

168, 168, 168, 168, 168, 168, 168, 
120, 120, 120, 120, 182, 182, 182, 
113, 113, 113, 111, 111, 111, 111

Answer: ____________

22) 8875 x 2356

Answer: ____________

23) Find the median of the following set of data:

19, 14, 16, 39, 36, 14, 9, 36, 7, 9, 
19, 34, 5, 36, 2, 26, 22, 19, 4, 20

Answer: ____________

24) 37/12 - 19/9

Answer: ____________

25) Simplify 31:80

Answer: ____________

26)

A = 30  B
Find the Angle at side B.

Answer: ____________

27) Find perimeter of 
rectangle having 
sides a = 9780 ft 
and b = 6652 ft

Answer: ____________

28) 44 x (-71)

Answer: ____________

29) Solve 9q2 + 20q + 7 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

30) Round 5.1749635 to the nearest 
whole number.

Answer: ____________
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31) An amount was increased by 1% to 
$488.00. Find the original amount.

Answer: ____________

32) 4/17 + 12/17

Answer: ____________

33) 914/15 x 2317/18

Answer: ____________

34) 46/19 x 121/2

Answer: ____________

35) 8438 - 8162

Answer: ____________

36) 8438 - 8162

Answer: ____________

37) Find area of 
rectangle having 
sides a = 7541 cm 
and b = 1814 cm

Answer: ____________

38) (1 x 17) - (19 ÷ 10)

Answer: ____________

39) 4-16 * 4-10

Answer: ____________

40) 86.9 x 51.8

Answer: ____________

41)

A B = 24
Find the Angle at side A.

Answer: ____________

42) Convert the following improper 
fraction 355/20 + 124/18 into a mixed 
number

Answer: ____________

43) 8/59 of 118

Answer: ____________

44) Find the percentage change from 170 
to 221

Answer: ____________

45) Factorise 3q2 + 8q + 5

Answer: ____________
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46)
39

Volume of Cone 
32

Answer: ____________

47) 2231 ÷ 97

Answer: ____________

48) Find area of triangle
h = 9103 cm, a = 
9267 cm,
b = 9348 cm, c = 
9393 cm

Answer: ____________

49) An amount was increased by 2% to 
$28.00. Find the original amount.

Answer: ____________

50) A number is chosen at random from 
1 to 75. Find the probability of 
selecting multiples of 20.

Answer: ____________

Total: ___ / 50
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Answers:

1) 11876,59380,59376, 2) $440.00 3) 71/3 4) 71/3 5) (j + 6)2 - 16 6) -12545 7) 109

8) 2 : 62 9) 17174.039839624 10) f = 1.2 or -0.3 11) -11 12) 94 13) 77/2 14) 3405

15) 513/17 16) 2/3 17) 159 18) -13 19) 13073520in 20) 13073520in 21) 168

22) 20909500 23) 14 24) 35/36 25) 31 : 80 26) 150 27) 32864ft 28)

29) q = -0.4 or -1.8 30) 5 31) $483.17 32) 16/17 33) 237229/270 34) 5318/19 35) 276

36) 276 37) 13679374cm 38) 39) 4-26 40) 4501.42 41) 156 42) 4717/36

43) 16 44) 30%
45) (3q + 5)(q + 
1)

46) 41820.881404587 47) 23 48) 42547422cm 49) $27.45

50) 1/25
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